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ENGLISH VERSION

Instructions (1) Write answers of all questions in main answer sheet only.
(2) Figures in the right side indicate marks.
(3) Give answers of question no. 2 to 5 on the basis
of internal options.

1 MCQ. 20
(1 APC. = ?
(A) 1-APS
B) Cly
(C) Average Propensity to consume
O Al
@2 APC. + APS = ?
A 1
B) 2
© 15
(D) None
(3) From the following which book was written by J.B. Say ?
(A) Principle of Economics
(B) Principle of Political Economy
(C) Wealth of Nations
(D) None
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When the purchasing power of money decreases continuously,
then what i1s this situation called ?

(A) Recovery

(B) Depression

(C) Inflation

(D) Recession

Who presented the modern theory of employment first ?
(A) Prof. A.C. Pigu

(B) Prof. Adam Smith

(C) Prof. J M. Keynes

(D) Prof. J.M. Clerk

In trade cycle what types stages regarding boom and
depression ?

(A) Dependable

(B) Self Generated

(C) Interdependent

(D) None

What type of inflation the government can be successful in
preventing it ?

(A) Medieval

(B) Chronic
(C) Transitory
(D) None

To control inflation which instrument of fiscal policy can be
utilized ?

(A) Taxes

(B) Implementation of saving schemes

(C) Cut in public expenditure

O) Al

Absence of involuntary unemployment means

(A) Seasonal employment

(B) Full employment

(C) Half employment

(D) Partial employment

From the following which factor become active in ending
boom ?

(A) Increase in Production Cost

(B) Decrease in credit creation

(C) Decrease in Marginal Propensity to Consume

(D) All these three
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(11) In which countries, cyclical fluctuation is not seen ?
(A) In Industrial countries
(B) In Agriculture countries
(C) In underdeveloping countries
(D) In developing countries
(12) In which stage of trade cycle price, profit, employment and
income are increases slowly ?
(A) In Boom
(B) In Depression
(C) Recession
(D) In recovery
(13) Which type of phenomenon is trade cycle, according to Prof.
Hawtrey ?
(A) The pure monetary phenomenon
(B) The real phenomenon
(C) The nonmonetary phenomenon
(D) The abnormal phenomenon
(14) Which principle of money is considered as Prof. Hayek’s
principle ?
(A) Excessive Investment
(B) Under Investment
(C) Moderate Investment
(D) Direct Investment
(15) After decreasing the wage if marginal production decreases
the producers has to
(A) Stabilize wage rate
(B) Decrease wage rate
(C) Increase wage rate
(D) Increase and decrease in wage rate according to situation
(16) Which type of promotions should be given to promote the
production in depression ?
(A) Political Promotions
(B) Economical Promotions
(C) Legal Promotions
(D) All these three
(17) When inflation is limited only to certain commodities, then
it is called which type of inflation ?
(A) Partial
(B) Short Period
(C) Perfect
(D) Long Term
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(18) Marginal propensity to consume is always greater than zero
and i
(A) Less than 1
(B) Less than 100
(C) Less than 10
(D) Less than 2
(19) From the following, which is the determinant factor of
production and employment ?
(A) Total supply
(B) Total Effective Demand
(C) Interest Rate
(D) Total Investment
(20) How many purposes are there for cash demand, according to
Prof. Keynes ?

(A) Three
(B) Four
(C) Five
D) Two
2 Answer any one question : 10

(1) Explain the modern theory of employment
(2) Describe limitations of J.B. Say’s theory of market

3 Answer any one question : 10
(1) Explain Prof. Pigu’s wage cut theory
(2) Explain Seasonal and Secular fluctuations.

4 (a) Write short note : (any one) 8
(1) Explain administrative policy to control inflation
(2) Open inflation and controlled inflation.
(b) Write short note : (any one) 8
(1) Discuss the causes of inflation
(2) Discuss general characteristics of inflation.

5 Answer in brief any two of the following : 14
(1) Explain trade cycle theory of Prof. Hawtry
(2) Write note on the stages of trade cycle
(3) Write note of characteristics of trade cycle
(4) Evaluate Prof. Hayek’s trade cycle theory.
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